TH20%

[BA%] 2R68

[(E7m)%FERNY—T

(RAEHFER)

BENTUUILZ| 204957 | BBAEUYE | Za—vuk—3x | MEIL-TR |HRSEHRIST| BRB—ILR| EBO TLX [SEARBS -2 me  (wa| B2 EE
ERNTUUTILR 5 5(1 x 11|{5 o 5|7 o 5|7 o 5|6 x 7|14 0 4|3 0O 2 5% 3BK| 48 | 4 |44%
#0957 |5 O 5 1 x 6|3 x 8|13 0 3|2 x 4|0 x 1011 © 2 x 12| |38 58| 37 |-20| 74z
BBREYYE |11 O 1| 6 1 13 0 1|11 © 1|7 © 2|5 O 0|14 o 1|3 x 13| |78 1BX| 70 | 50 |14
Za—vy¥—x| 5 x 5| 8 3|11 x 13 6 O 4|3 x 13|19 x 10({11 © 2|3 x 4 3% 5BR| 46 | -8 |61
mEIL—JZ [ 5 x T |3 1311 x 11| 4 x 6 5 x 1211 x 107 O 3|4 x 13 185 78| 30 |-45|8fi
RELEHHRsST| 5 x ] | 4 212 x 7[13 o 3|12 0o 5 2 x 4115 O 0|0 x 5| |48 48| 53| 20 |5k
PRE—ILZ| 7 O 6 |10 0|0 x 5|10 0 9|10 O 1 o 2 14 o 0|5 O 4 785 18%| 60 | 33 |2{
£HOvLZ | 4 x 14| 9 1M1 x 142 x 113 x 7|0 x 15/0 x 14 3 x 15| |Of% 8B&| 22 |-79|9ft
FERR#IAA—Z 2 x 3 [12 2|13 0 3|4 o 3|13 0 4|5 O 0|4 x 5|15 O 3 68% 28K | 68 | 45 | 3{iL
3
Bt REY vk =5 Bt REY bk
4 2 R PREL—TILR
R X/ R

%;%%;i af ERRASAH—R

5 Sl 8 3 441 BENTODILR

6§z Za—vox—X

BE14 EE4HL EE26L HE34L JA ®957
BFIRE vk HEEZNTUDTILR HREFA—TILR ERIR@2AH—R 8L mEIL—TR
9fis EHnS viLX

IR TR

BEINTVSTILA| §

FRRHZAH—R




